Multiply and Divide by Positive Powers of Ten (C)

Find each product or quotient.

6,2:10 = 49209 x 1.000 =
4,1:1.000 = 6,63:100 =
1,973 :1.000 = 2,5x%x100=
4,4287 : 1.000 = 9,8:1.000 =
6,618 X 100 = 5152 x 10 =
9,8:10 = 7,47 X 10 =
9,6358:10 = 1,631:10 =

7,83 X 100 = 5,949 :1.000 =
1,08:10 = 52x100=

6,1 X 100 = 4,3878 :1.000 =
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ultiply and Divide by Positive Powers of Ten (C) Answe

Find each product or quotient.

6,2:10=0,62 49209 x 1.000 =4.920,9
4,1:1.000 =0,0041 6,63 :100=0,0663

1,973 :1.000 =0,001973 2,5 %100 =250

4,4287 :1.000 = 0,0044287 9,8:1.000 =0,0098

6,618 X 100 = 661,8 5,152 x 10 =51,52
9,8:10=10,98 7,47 X 10 = 74,7
9,6358:10 =0,96358 1,631:10=0,1631

7,83 x 100 =783 5,949 :1.000 = 0,005949
1,08:10=0,108 5,2x100=520

6,1 X 100 =610 4,3878 :1.000 = 0,0043878
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